

On the degenerate Frobenius-Euler polynomials

Taekyun Kim

*Department of Mathematics,
Kwangwoon University,
Seoul 139-701, Republic of Korea.
E-mail: tkkim@kw.ac.kr*

Hyuck-In Kwon

*Department of Mathematics,
Kwangwoon University,
Seoul 139-701, Republic of Korea.
E-mail: sura@kw.ac.kr*

Jong-Jin Seo

*Department of Mathematics,
Pukyong National University,
Busan 608-737, Pusan, Republic of Korea.
E-mail: seo2011@pknu.ac.kr*

Abstract

In this paper, we consider the degenerate Frobenius-Euler polynomials and investigate some identities of those polynomials.

AMS subject classification: 05A10, 05A19.

Keywords:

1. Introduction

For $u \in \mathbb{C}$ with $u \neq 1$, the *Frobenius-Euler polynomials* are defined by the generating function to be

$$\frac{1-u}{e^t-u} e^{xt} = \sum_{n=0}^{\infty} H_n(x|u) \frac{t^n}{n!}, \quad (\text{see [1-10]}). \quad (1.1)$$

When $x = 0$, $H_n(x|u) = H_n(0|u)$ are called the *Frobenius-Euler numbers*.

From (1.1), we have

$$H_n(x|u) = \sum_{l=0}^n \binom{n}{l} H_l(u) x^{n-l}, \quad (n \geq 0), \quad (\text{see [6-8]}). \quad (1.2)$$

Note that

$$\frac{d}{dx} H_n(x|u) = n H_{n-1}(x|u), \quad (n \in \mathbb{N}).$$

In [3], L. Carlitz define the degenerate Bernoulli polynomials which are given by the generating function to be

$$\frac{t}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \beta_n(x|\lambda) \frac{t^n}{n!}. \quad (1.3)$$

When $x = 0$, $\beta_n(\lambda) = \beta_n(0|\lambda)$ are called the *degenerate Bernoulli numbers*. From (1.3), we have

$$\lim_{\lambda \rightarrow 0} \frac{t}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} (1 + \lambda t)^{\frac{x}{\lambda}} = \frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad (1.4)$$

where $B_n(x)$ are called *Bernoulli polynomials*

By (1.3) and (1.4), we get

$$\lim_{\lambda \rightarrow 0} \beta_n(x|\lambda) = B_n(x), \quad (n \geq 0).$$

The *Stirling number of the first kind* is defined as

$$(x)_n = \sum_{l=0}^n S_1(n, l) x^l, \quad (n \geq 0), \quad (1.5)$$

where $(x)_n = x(x-1) \cdots (x-n+1)$, $(x)_0 = 1$.

By (1.3), we easily get

$$\beta_n(x|\lambda) = \sum_{l=0}^n \binom{n}{l} \beta_{n-l}(x|\lambda) (x|\lambda)_l, \quad (n \geq 0), \quad (1.6)$$

where $(x|\lambda)_n = x(x-\lambda) \cdots (x-(n-1)\lambda)$.

The *Stirling numbers of the second kind* is defined by

$$x^n = \sum_{l=0}^n S_2(n, l) (x)_l, \quad (n \geq 0). \quad (1.7)$$

In this paper, we consider the degenerate Frobenius-Euler polynomials and investigate some properties and identities of those polynomials.

2. Degenerate Frobenius-Euler polynomials

For $u \in \mathbb{C}$ with $u \neq 1$, we consider degenerate Frobenius-Euler polynomials which are given by the generating function to be

$$\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} h_{n,\lambda}(x|u) \frac{t^n}{n!}. \quad (2.1)$$

When $x = 0$, $h_{n,\lambda}(u) = h_{n,\lambda}(0|u)$ are called *degenerate Frobenius-Euler numbers*.

From (2.1), we have

$$\begin{aligned} \frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} (1+\lambda t)^{\frac{x}{\lambda}} &= \left(\sum_{l=0}^{\infty} \frac{h_{l,\lambda}(u)}{l!} t^l \right) \left(\sum_{m=0}^{\infty} (x|\lambda)_m \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} h_{l,\lambda}(u) (x|\lambda)_{n-l} \right) \frac{t^n}{n!}. \end{aligned} \quad (2.2)$$

Thus by (2.1) and (2.2), we get

$$h_{n,\lambda}(x|u) = \sum_{l=0}^n \binom{n}{l} h_{l,\lambda}(u) (x|\lambda)_{n-l}. \quad (2.3)$$

From (2.1), we can derive the following recurrence relation:

$$\begin{aligned} 1-u &= (1+\lambda t)^{\frac{1}{\lambda}} \sum_{n=0}^{\infty} h_{n,\lambda}(u) \frac{t^n}{n!} - u \sum_{n=0}^{\infty} h_{n,\lambda}(u) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} h_{l,\lambda}(u) (1|\lambda)_{n-l} \right) \frac{t^n}{n!} - u \sum_{n=0}^{\infty} h_{n,\lambda}(u) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} (h_{n,\lambda}(1|u) - u h_{n,\lambda}(u)) \frac{t^n}{n!}. \end{aligned} \quad (2.4)$$

By comparing of the coefficients on the both sides of (2.4), we get

$$h_{n,\lambda}(1|u) - u h_{n,\lambda}(u) = \begin{cases} 1-u, & \text{if } n = 0 \\ 0, & \text{if } n > 0. \end{cases} \quad (2.5)$$

Note that

$$\lim_{\lambda \rightarrow 0} \frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} (1+\lambda t)^{\frac{x}{\lambda}} = \frac{1-u}{e^t - u} e^{xt} = \sum_{n=0}^{\infty} H_n(x|u) \frac{t^n}{n!}. \quad (2.6)$$

From (2.1) and (2.6), we have

$$H_n(x|u) = \lim_{\lambda \rightarrow 0} h_{n,\lambda}(x|u), \quad (n \geq 0). \quad (2.7)$$

We observe that

$$\begin{aligned} & \frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} (1+\lambda t)^{\frac{x+1}{\lambda}} - \frac{u(1-u)}{(1+\lambda t)^{\frac{1}{\lambda}} - u} (1+\lambda t)^{\frac{x}{\lambda}} \\ &= (1-u)(1+\lambda t)^{\frac{x}{\lambda}} = (1-u) \sum_{n=0}^{\infty} (x|\lambda)_n \frac{t^n}{n!}. \end{aligned} \quad (2.8)$$

Therefore, by (2.1) and (2.8), we get

$$h_{n,\lambda}(x+1|u) - u h_{n,\lambda}(x|u) = (x|\lambda)_n (1-u), \quad (n \geq 0). \quad (2.9)$$

Therefore, we obtain the following theorem.

Theorem 2.1. For $n \geq 0$, we have

$$h_{n,\lambda}(x|u) = \sum_{l=0}^n \binom{n}{l} h_{l,\lambda}(u) (x|\lambda)_{n-l}$$

and

$$\frac{h_{n,\lambda}(x+1|u)}{1-u} - \frac{u}{1-u} h_{n,\lambda}(x|u) = (x|\lambda)_n.$$

In particular,

$$h_{n,\lambda}(1|u) - u h_{n,\lambda}(u) = (1-u) \delta_{0,n},$$

where $\delta_{n,k}$ is the Kronecker's symbol.

By (2.1), we get

$$\begin{aligned} \sum_{n=0}^{\infty} h_{n,-\lambda}(u) \frac{t^n}{n!} &= \frac{1-u}{(1-\lambda t)^{-\frac{1}{\lambda}} - u} = \frac{1-u}{1-u(1-\lambda t)^{\frac{1}{\lambda}}} (1-\lambda t)^{\frac{1}{\lambda}} \\ &= \frac{1-u^{-1}}{(1-\lambda t)^{\frac{1}{\lambda}} - u^{-1}} (1-\lambda t)^{\frac{1}{\lambda}} = \sum_{n=0}^{\infty} h_{n,\lambda}(1|u^{-1}) (-1)^n \frac{t^n}{n!}. \end{aligned} \quad (2.10)$$

In general,

$$\begin{aligned} \sum_{n=0}^{\infty} h_{n,-\lambda}(-x|u) \frac{t^n}{n!} &= \frac{1-u}{(1-\lambda t)^{-\frac{1}{\lambda}} - u} (1-\lambda t)^{\frac{x}{\lambda}} = \frac{1-u^{-1}}{(1-\lambda t)^{\frac{1}{\lambda}} - u^{-1}} (1-\lambda t)^{\frac{x+1}{\lambda}} \\ &= \sum_{n=0}^{\infty} h_{n,\lambda}(x+1|u^{-1}) (-1)^n \frac{t^n}{n!}. \end{aligned} \quad (2.11)$$

Therefore, by (2.10) and (2.11), we obtain the following theorem.

Theorem 2.2. For $n \geq 0$, we have

$$(-1)^n h_{n,-\lambda}(-x|u) = h_{n,\lambda}(x + 1|u^{-1}).$$

In particular,

$$(-1)^n h_{n,-\lambda}(u) = (-1)^n h_{n,\lambda}(1|u^{-1}).$$

We observe that

$$\begin{aligned} -\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}}-u}(1+\lambda t)^{\frac{x}{\lambda}} &= \frac{u^d(1-u^{-1})}{(1+\lambda t)^{\frac{d}{\lambda}}-u^d} \sum_{l=0}^{d-1} u^{-l}(1+\lambda t)^{\frac{l+x}{\lambda}} \\ &= \frac{u^d(1-u^{-1})}{1-u^d} \sum_{l=0}^{d-1} \frac{u^{-l}(1-u^d)}{(1+\lambda t)^{\frac{d}{\lambda}}-u^d} (1+\lambda t)^{\frac{l+x}{\lambda}} \\ &= \frac{(1-u^{-1})}{1-u^d} \sum_{l=0}^{d-1} \sum_{n=0}^{\infty} u^{d-l} h_{n,\frac{\lambda}{d}} \left(\frac{l+x}{d} \middle| u^d \right) d^n \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left\{ \left(\frac{1-u^{-1}}{1-u^d} \right) d^n \sum_{a=0}^{d-1} u^{d-a} h_{n,\frac{\lambda}{d}} \left(\frac{a+x}{d} \middle| u^d \right) \right\} \frac{t^n}{n!}. \end{aligned} \quad (2.12)$$

Therefore, by (2.1) and (2.12), we obtain the following theorem.

Theorem 2.3. For $n \geq 0$, $d \in \mathbb{N}$, we have

$$h_{n,\lambda}(x|u) = d^n \left(\frac{-1+u^{-1}}{1-u^d} \right) \sum_{a=0}^{d-1} u^{d-a} h_{n,\frac{\lambda}{d}} \left(\frac{a+x}{d} \middle| u^d \right).$$

For $r \in \mathbb{N}$, let us consider the degenerate Frobenius-Euler polynomials of order r which are given by the generating function to be

$$\left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}}-u} \right)^r (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} h_{n,\lambda}^{(r)}(x|u) \frac{t^n}{n!}. \quad (2.13)$$

When $x = 0$, $h_{n,\lambda}^{(r)}(u) = h_{n,\lambda}^{(r)}(0|u)$ are called *degenerate Frobenius-Euler numbers of order r* .

From (2.13), we can easily derive the following equation.

$$h_{n,\lambda}^{(r)}(x) = \sum_{l=0}^n \binom{n}{l} h_{l,\lambda}^{(r)}(u) (x|_{\lambda})_{n-l}, \quad (n \geq 0). \quad (2.14)$$

By (2.13), we get

$$\begin{aligned} \sum_{n=0}^{\infty} h_{n,\lambda}^{(r)}(x+y|\lambda) \frac{t^n}{n!} &= \left(\sum_{l=0}^{\infty} h_{l,\lambda}^{(r)}(x) \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} (x|\lambda)_m \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n h_{l,\lambda}^{(r)}(x) (x|\lambda)_{n-l} \binom{n}{l} \right) \frac{t^n}{n!}. \end{aligned} \quad (2.15)$$

Therefore, by (2.15), we obtain the following theorem.

Theorem 2.4. For $n \geq 0$, we have

$$h_{n,\lambda}^{(r)}(x+y|\lambda) = \sum_{l=0}^n \binom{n}{l} h_{l,\lambda}^{(r)}(x) (x|\lambda)_{n-l}.$$

From Theorem 2.4, we note that $h_{n,\lambda}^{(r)}(x|u)$ is a Sheffer sequence.

By replacing t by $\frac{1}{\lambda}(e^{\lambda t} - 1)$ in (2.13), we get

$$\begin{aligned} \left(\frac{1-u}{e^t - u} \right)^r e^{xt} &= \sum_{n=0}^{\infty} h_{n,\lambda}^{(r)}(x|u) \frac{1}{n!} \left(\frac{1}{\lambda}(e^{\lambda t} - 1) \right)^n \\ &= \sum_{n=0}^{\infty} h_{n,\lambda}^{(r)}(x|u) \lambda^{-n} \sum_{m=n}^{\infty} S_2(m, n) \lambda^m \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left(\sum_{n=0}^m h_{n,\lambda}^{(r)}(x|u) \lambda^{m-n} S_2(m, n) \right) \frac{t^m}{m!}. \end{aligned} \quad (2.16)$$

As is well known, the higher-order Frobenius-Euler polynomials are defined by the generating function to be

$$\left(\frac{1-u}{e^t - u} \right)^r e^{xt} = \sum_{n=0}^{\infty} H_n^{(r)}(x|u) \frac{t^n}{n!}. \quad (2.17)$$

Thus, by (2.16) and (2.17), we get

$$H_n^{(r)}(x|u) = \sum_{n=0}^m h_{n,\lambda}^{(r)}(x|u) \lambda^{m-n} S_2(m, n). \quad (2.18)$$

Therefore, by (2.18), we obtain the following theorem.

Theorem 2.5. For $m \geq 0$, we have

$$H_n^{(r)}(x|u) = \sum_{n=0}^m h_{n,\lambda}^{(r)}(x|u) \lambda^{m-n} S_2(m, n).$$

By replace t by $\log(1 + \lambda t)^{\frac{1}{\lambda}}$ in (2.17), we have

$$\begin{aligned} \left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} \right)^r (1+\lambda t)^{\frac{x}{\lambda}} &= \sum_{n=0}^{\infty} H_n^{(r)}(x|u) \frac{1}{n!} \frac{1}{\lambda^n} (\log(1+\lambda t))^n \\ &= \sum_{n=0}^{\infty} H_n^{(r)}(x|u) \lambda^{-n} \sum_{m=n}^{\infty} S_1(m, n) \lambda^m \frac{t^n}{n!} \\ &= \sum_{m=0}^{\infty} \left(\sum_{n=0}^m H_n^{(r)}(x|u) \lambda^{m-n} S_1(m, n) \right) \frac{t^m}{m!}. \end{aligned} \quad (2.19)$$

Therefore, by (2.13) and (2.18), we obtain the following theorem.

Theorem 2.6. For $m \geq 0$, we have

$$h_{n,\lambda}^{(r)}(x|u) = \sum_{n=0}^m H_n^{(r)}(x|u) \lambda^{m-n} S_1(m, n).$$

We observe that

$$\begin{aligned} &\left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} \right)^r (1+\lambda t)^{\frac{x+1}{\lambda}} - u \left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} \right)^r (1+\lambda t)^{\frac{x}{\lambda}} \\ &= \left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} \right)^{r-1} (1+\lambda t)^{\frac{x}{\lambda}} (1-u) = \sum_{n=0}^{\infty} h_{n,\lambda}^{(r-1)}(x|u) (1-u) \frac{t^n}{n!}. \end{aligned} \quad (2.20)$$

Therefore, by (2.13), we obtain the following theorem.

Theorem 2.7. For $n \geq 0$, we have

$$\frac{1}{1-u} \left\{ h_{n,\lambda}^{(r)}(x+1|u) - u h_{n,\lambda}^{(r)}(x|u) \right\} = h_{n,\lambda}^{(r-1)}(x|u).$$

Remark. 2.8. et $u = -1$. Then, by (2.1), we get

$$\frac{1}{t} \frac{2t}{(1+\lambda t)^{\frac{1}{\lambda}} + 1} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} h_{n,\lambda}(x|-1) \frac{t^n}{n!}. \quad (2.21)$$

Thus, by (2.21), we get

$$\frac{2t}{(1+\lambda t)^{\frac{1}{\lambda}} + 1} (1+\lambda t)^{\frac{x}{\lambda}} = t \sum_{n=0}^{\infty} h_{n,\lambda}(x|-1) \frac{t^n}{n!}.$$

Now, we define the degenerate Genocchi polynomials which are given by the generating function to be

$$\frac{2t}{(1+\lambda t)^{\frac{1}{\lambda}} + 1} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} g_{n,\lambda}(x) \frac{t^n}{n!}. \quad (2.22)$$

From (2.21) and (2.22), we have

$$g_{0,\lambda}(x) = 0 \text{ and } h_{n,\lambda}(x| - 1) = \frac{1}{n+1} g_{n+1,\lambda}(x), \quad (n \geq 0).$$

References

- [1] S. Araci and M. Acikgoz, *A note on the Frobenius-Euler numbers and polynomials associated with Bernstein polynomials*, Adv. Stud. Contemp. Math., **22** (2012), no. 3, 399–406.
- [2] M. Can, M. Cenkci, V. Kurt and Y. Simsek, *Twisted Dedekind type sums associated with Barnes' type multiple Frobenius-Euler l -functions*, Adv. Stud. Contemp. Math., **18** (2009), no. 2, 135–160.
- [3] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math., 2013, **15** (1979), 51–88.
- [4] D. V. Dolgy, D. S. Kim, T. Kim, T. Mansour, *Barnes-type Daehee with λ -parameter and degenerate Euler mixed-type polynomials*, J. Inequal. Appl. 2015, **2015**:154.
- [5] L.-C. Jang, S.-K. Choi, H. I. Kwon, *Some identities of higher order Barnes-type q -Bernoulli polynomials and higher order Barnes-type q -Euler polynomials*, Adv. Difference Equ. 2015, **2015**:162.
- [6] D. S. Kim, T. Kim, T. Komatsu, H. I. Kwon, *Barnes' multiple Bernoulli and generalized Barnes' multiple Frobenius-Euler mixed-type polynomials*, Adv. Difference Equ. 2014, **2014**:238.
- [7] D. S. Kim, T. Kim, *Some identities of degenerate special polynomials*, Open Math., **13** (2015), Art. 37.
- [8] D. S. Kim, T. Kim, J. Seo, *Higher-order Bernoulli, Frobenius-Euler and Euler polynomials*, J. Comput. Anal. Appl., **17** (2014), no. 1, 147–155.
- [9] T. Kim, J. Choi, *A note on the product of Frobenius-Euler polynomials arising from the p -adic integral on \mathbb{Z}_p* , Adv. Stud. Contemp. Math., **22** (2012), no. 2, 215–223.
- [10] C. S. Ryoo, *A note on the Frobenius-Euler polynomials*, Proc. Jangjeon Math. Soc., **14** (2011), no. 4, 495–510.